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Answer 1: (D)
[image: ]
उत्तर 1: (D)
[image: ]

Answer 2: (C)
[bookmark: _Hlk136263005]The logic followed here is:
STAR = 19 20 1 18
Reverse order of 1920118 = 8110291
GIFT = 7 9 6 20
Reverse order of 79620 = 02697
Similarly,
DOLL = 4 15 12 12
Reverse order of 4151212 = 2121514
Hence, the code for 'DOLL' is '2121514'.
उत्तर 2: (C)
;gk¡ fuEu rdZ dk vuqlj.k fd;k x;k gS:
STAR = 19 20 1 18
1920118 dk mYVk Øe = 8110291
GIFT = 7 9 6 20
79620 dk mYVk Øe = 02697
mlh izdkj ls,
DOLL = 4 15 12 12
4151212 dk mYVk Øe = 2121514
vr%, 'DOLL' dk कूट '2121514' gSA

Answer 3: (D)
100 + 100 × 50 – 2 ÷ 3 = 51
[bookmark: _Hlk136348865]Go through option D,
100 ÷ 100 × 50 – 2 + 3 = 51
⇒ 1 × 50 – 2 + 3 = 51
⇒ 50 – 2 + 3 = 51
⇒ 53 – 2 = 51
⇒ 51 = 51
उत्तर 3: (D)
100 + 100 × 50 – 2 ÷ 3 = 51
fodYi D ds ek/;e ls,
100 ÷ 100 × 50 – 2 + 3 = 51
⇒ 1 × 50 – 2 + 3 = 51
⇒ 50 – 2 + 3 = 51
⇒ 53 – 2 = 51
⇒ 51 = 51
Answer 4: (A)
[bookmark: _Hlk136263216]The logic: (a : a3 + a)
Except option A, all other options follow this logic.
4 : 70

43 +  4 = 64 + 4 = 6870,
3 : 30
33 + 3 = 27 + 3 = 30,
6 : 222
63 + 6 = 216 + 6 = 222,
7 : 350
73 + 7 = 343 + 7 = 350
Hence, option A is the odd number-pair.
उत्तर 4: (A)
rdZ: (a : a3 + a)
fodYi A dks NksM+dj] vU; lHkh fodYi bl rdZ dk ikyu djrs gSaA
4 : 70

43 + 4 = 64 + 4 = 6870,
3 : 30
33 + 3 = 27 + 3 = 30,
6 : 222
63 + 6 = 216 + 6 = 222,
7 : 350
73 + 7 = 343 + 7 = 350
vr%] fodYi A vlaxr la[;k&;qXe gSA

Answer 5: (A)
_ B _ T F H B N _ F I _ N T F _ B N T F
[bookmark: _Hlk146470481]The complete series is as follows,
GBNTF/ HBNTF/ IBNTF/ JBNTF
mÙkj 5: (A)
_ B _ T F H B N _ F I _ N T F _ B N T F
iw.kZ J`a[kyk fuEu izdkj gS,
GBNTF/ HBNTF/ IBNTF/ JBNTF

Answer 6: (A)
[image: ]
From the above dices,
Hence, 4 will be opposite to 1.
उत्तर 6: (A)
[image: ]
mijksä iklksa ls,
vr%] 4 ds foijhr 1 gksxkA
Answer 7: (A)
PLANT : VPCNR :: STOMP : ROQVU :: BOARD : ?
The logic followed here is:

[image: ]

[bookmark: _Hlk131880833]Hence, option (A) is the correct answer.
उत्तर 7: (A)
PLANT : VPCNR :: STOMP : ROQVU :: BOARD : ?
;gk¡ fuEu rdZ dk vuqlj.k fd;k x;k gS:

[image: ]
vr%] fodYi (A) lgh mÙkj gSA

Answer 8: (D)
[image: ]
Hence, option (D) is the correct answer.
उत्तर 8: (D)
[image: ]
[bookmark: _Hlk131879748]vr%] fodYi (D) lgh mÙkj gSA

Answer 9: (D)
SHP, RIO, PKN, MNM, ?
[bookmark: _Hlk146430593]The pattern followed here is:
[image: ]
Hence, option (D) is the correct answer.
उत्तर 9: (D)
SHP, RIO, PKN, MNM, ?
;gk¡ fuEu iSVuZ dk vuqlj.k fd;k x;k gS:
[image: ]
vr%] fodYi (D)  lgh mÙkj gSA

Answer 10: (C)
Here the logic is:
As,
(44, 63, 98)
44 + 63 = 107,
107 – 98 = 9
(59, 99, 149)
59 + 99 = 158,
158 – 149 = 9
[bookmark: _Hlk136356908]Similarly, go through option C
(81, 15, 87)
81 + 15 = 96,
96 – 87 = 9
उत्तर 10: (C)
;gk¡ rdZ gS:
tSls fd,
(44, 63, 98)
44 + 63 = 107,
107 – 98 = 9
(59, 99, 149)
59 + 99 = 158,
158 – 149 = 9
mlh izdkj ls, fodYi C ds ek/;e ls
(81, 15, 87)
81 + 15 = 96,
96 – 87 = 9

Answer 11: (D)
[image: ]
Go through option D, then
56 ÷ 8 × 4 + 7 = 50 – 15
⇒ 7 × 4 + 7 = 35
⇒ 28 + 7 = 35
⇒ 35 = 35
उत्तर 11: (D)
[image: ]
fodYi D ds ek/;e ls, rc
56 ÷ 8 × 4 + 7 = 50 – 15
⇒ 7 × 4 + 7 = 35
⇒ 28 + 7 = 35
⇒ 35 = 35

Answer 12: (D)
[bookmark: _Hlk146470390]Representation of order of words according to the English dictionary,
1. Lambast
4. Languish
5.Laughter
3. Legacy
2. Lighten
6. Lightly
Hence, option (D) is the correct answer.
उत्तर 12: (D)
vaxzsth 'kCndks'k ds vuqlkj 'kCnksa ds Øe dk fu:i.k]
1. Lambast
4. Languish
5.Laughter
3. Legacy
2. Lighten
6. Lightly
vr%] fodYi (D) lgh mÙkj gSA

Answer 13: (B)
[image: ]
Hence, option (B) is the correct answer.
उत्तर 13: (B)
[image: ]
vr%] fodYi (B) lgh mÙkj gSA

Answer 14: (C)
[image: ]
Hence, option (C)  is the correct answer.
उत्तर 14: (C)
[image: ]
vr%] fodYi (C) lgh mÙkj gSA

Answer 15: (A)
[bookmark: _Hlk146467680]The diagram based on the given statements-
[image: ]

Conclusion I: 
Conclusion II: partially true

Conclusion III: 
Hence, option (A) is the correct answer.
mÙkj 15: (A)
fn, x, dFkuksa ij vk/kkfjr vkd`fr-
[image: ]

निष्कर्ष I: 
निष्कर्ष II: आंशिक सत्य 

निष्कर्ष III: 
vr%] fodYi (A) lgh mÙkj gSA

Answer 16: (B)
Blood-related figure, based on the information given in the question
[image: ]
From the above diagram,
The given statement in option B is not true.
Hence, option (B) is the correct answer.
उत्तर 16: (B)
ç'u esa nh xbZ tkudkjh ds vkèkkj ij jä lacafèkr vkd`fr-
[bookmark: _GoBack][image: ]
उपरोक्त आकृति से,
विकल्प B में दिया गया कथन सत्य नहीं है।
अतः, विकल्प (B) सही उत्तर है।

Answer 17: (C)
Here,
CROW = 6 9 7 0
ORCA = 7 5 6 9
From the above, C O R is standard in both. Thus, 6 7 9 will be expected in both.
The code for W & A will be 0 & 5 respectively.
Hence, option (C)  is the correct answer.
उत्तर 17: (C)
;gk¡,
CROW = 6 9 7 0
ORCA = 7 5 6 9
mijksä ls, C O R nksuksa es ekud gSA bl izdkj ls, 6 7 9 nksuksa esa vkisf{kr gksxsaA
W rFkk A dk कूट Øe'k% 0 rFkk 5 gksaxsA
vr%] fodYi (C)  lgh mÙkj gSA

Answer 18: (A)
'Blatant' and 'Open' are synonym words, similarly, 'Secret' and 'Covert' are synonym words.
उत्तर 18: (A)
'Li"V' vkSj '[kqyk' i;kZ;okph 'kCn gSa] mlh çdkj 'xksiuh; ' vkSj 'xqIr' i;kZ;okph 'kCn gSaA

Answer 19: (A)
Here the logic is:
(2, 1, 5)
5 – 1 = 4, 4 = 2 × 2
(5, 12, 22)
22 – 12 = 10, 10 = 2 × 5
Similarly, go through option A
(6, 2, ?)
14 – 2 = 12, 12 = 2 × 6
उत्तर 19: (A)
;gk¡ rdZ gS:
(2, 1, 5)
5 – 1 = 4, 4 = 2 × 2
(5, 12, 22)
22 – 12 = 10, 10 = 2 × 5
mlh izdkj ls, fodYi A ds ek/;e ls
(6, 2, ?)
14 – 2 = 12, 12 = 2 × 6

Answer 20: (D)
Here the logic is:
(12, 15, 18)
15 – 12 = 3
18 – 15 = 3
(10, 8, 6)
10 – 8 = 2
8 – 6 = 2
Similarly, go through option D
(15, 20, 25)
20 – 15 = 5
25 – 20 = 5
उत्तर 20: (D)
;gk¡ rdZ gS:
(12, 15, 18)
15 – 12 = 3
18 – 15 = 3
(10, 8, 6)
10 – 8 = 2
8 – 6 = 2
mlh izdkj ls, fodYi D ds ek/;e ls
(15, 20, 25)
20 – 15 = 5
25 – 20 = 5

Answer 21: (A)
[image: ]
उत्तर 21: (A)
[image: ]

Answer 22: (B)
325, 271, 226, ? , 163, 145, 136
The pattern followed here is:
[image: ]
उत्तर 22: (B)
325, 271, 226, ? , 163, 145, 136
;gk¡ fuEu iSVuZ dk vuqlj.k fd;k x;k gS:
[image: ]

Answer 23: (C)
Here the logic is: 
(First number – Third number) × 2 = Second number
(14, 10, 9)
14 – 9 = 5, 5 × 2 = 10
(6, 8, 2)
6 – 2 = 4, 4 × 2 = 8
Similarly, go through option C
(8, 4, ?)
8 – 6 = 2, 2 × 2 = 4
उत्तर 23: (C)
;gk¡ rdZ gS:
(igyh la[;k – rhljh la[;k) × 2 = nwljh la[;k
(14, 10, 9)
14 – 9 = 5, 5 × 2 = 10
(6, 8, 2)
6 – 2 = 4, 4 × 2 = 8
mlh izdkj ls, fodYi C ds ek/;e ls
(8, 4, ?)
8 – 6 = 2, 2 × 2 = 4

Answer 24: (A)
[bookmark: _Hlk146398042]Here, the logic is as follows-

[image: ]
Hence, option A is the odd letter-cluster.
उत्तर 24: (A)
;gk¡] rdZ fuEuor gS

[image: ]
vr%] fodYi A असंगत v{kj&lewg gSA

Answer 25: (C)
The diagram is based on the given statements-
[image: ]

Conclusion I: 

Conclusion II: 

Conclusion III: 

Conclusion IV: 
Hence, option (C) is the correct answer.
उत्तर 25: (C)
fn, x, dFkuksa ij vk/kkfjr vkd`fr-
[image: ]

निष्कर्ष I: 

निष्कर्ष II: 

निष्कर्ष III:  

निष्कर्ष IV: 
vr%] fodYi (C) lgh mÙkj gSA


Part B: General Awareness / भाग ख: सामान्य जागरूकता

Answer 26: (A)
· The main river systems of peninsular drainage are the Mahanadi, the Godavari, the Krishna, the Kaveri, the Narmada, the Tapi, and The Luni River system.
· Peninsular rivers are seasonal and flow of the rivers depends on rainfall. 
· They are characterized by broad and shallow U-shaped valleys. 
उत्तर 26: (A)
· प्रायद्वीपीय जल निकासी की मुख्य नदी प्रणालियाँ महानदी, गोदावरी, कृष्णा, कावेरी, नर्मदा, तापी और लूनी नदी प्रणाली हैं।
· प्रायद्वीपीय नदियाँ मौसमी होती हैं और नदियों का प्रवाह वर्षा पर निर्भर करता है।
· इनकी विशेषता चौड़ी और उथली यू-आकार की घाटियाँ हैं।
Answer 27: (A)
· Sivamani (born 1 December 1959), commonly known by his stage name Drums Sivamani, is an Indian percussionist. 
· He plays many instruments including drums, octoban, darbuka, udukai, ghatam and kanjira.
उत्तर 27: (A)
· शिवमणि (जन्म 1 दिसंबर 1959), जिन्हें आमतौर पर उनके मंच नाम ड्रम्स शिवमणि से जाना जाता है, एक भारतीय तालवादक हैं।
· वह ड्रम, ऑक्टोबैन, दरबुका, उडुकई, घाटम और कंजीरा सहित कई वाद्ययंत्र बजाते हैं।

Answer 28: (A)
· James Augustus Hickey published the First Indian Newspaper in India named “The Bengal Gazette” in 1780. 
· People used to refer to it as Hickey’s Gazette even though it was also known as Calcutta General Advertiser.
· It was a two-sheet newspaper that was printed weekly. 
उत्तर 28: (A)
· जेम्स ऑगस्टस हिक्की ने 1780 में “द बंगाल गजट” नाम से भारत में पहला भारतीय समाचार पत्र प्रकाशित किया।
· लोग इसे हिक्की गजट के नाम से संदर्भित करते थे, हालांकि इसे कलकत्ता जनरल एडवरटाइजर के नाम से भी जाना जाता था।
· यह दो शीट वाला अखबार था जो साप्ताहिक रूप से छपता था।

Answer 29: (D)
· Traditionally, there are 2 umpires on the field in cricket matches, one standing at the end where the bowler bowls the ball and the other standing directly in front of the batsman.
· However, in the modern game, there may be more than two umpires.
· In cricket, an umpire is a person who has the authority to make decisions about events on the cricket field in accordance with the laws of cricket.
उत्तर 29: (D)
· परंपरागत रूप से, क्रिकेट मैचों में मैदान पर 2  अंपायर होते हैं, एक अंत में खड़ा होता है जहां गेंदबाज गेंद डालता है और दूसरा सीधे बल्लेबाज के सामने खड़ा होता है। 
· हालाँकि, आधुनिक खेल में, दो से अधिक अंपायर हो सकते हैं। 
· क्रिकेट में, अंपायर वह व्यक्ति होता है जिसके पास क्रिकेट के नियमों के अनुसार क्रिकेट के मैदान पर घटनाओं के बारे में निर्णय लेने का अधिकार होता है।
Answer 30: (C)
· Nana Saheb was the adopted son of Peshwa Baji Rao II. 
· He was an adopted son of the exiled Maratha Peshwa Baji Rao II. 
· Nana Sahib was born as Dhondu Pant, was an Indian Maratha fighter, who led the rebellion in Kanpur during the 1857 uprising.
उत्तर 30: (C)
· नाना साहब पेशवा बाजीराव द्वितीय के दत्तक पुत्र थे।
· वह निर्वासित मराठा पेशवा बाजी राव द्वितीय के दत्तक पुत्र थे।
· नाना साहब का जन्म धोंडू पंत के रूप में हुआ था, वह एक भारतीय मराठा सेनानी थे, जिन्होंने 1857 के विद्रोह के दौरान कानपुर में विद्रोह का नेतृत्व किया था।

Answer 31: (A)
· Swarn Singh Committee recommended the inclusion of Fundamental Duties in the Indian Constitution.
· In the year 1976, 10 fundamental duties were added by the 42nd Amendment Act.
· The 11th fundamental duty was added by the 86th Constitutional Amendment Act in the year 2002.
· Article 51A under Part IV-A of the Constitution deals with fundamental duties.
उत्तर 31: (A)
· स्वर्ण सिंह समिति ने भारतीय संविधान में मौलिक कर्तव्यों को शामिल करने की सिफारिश की।
· वर्ष 1976 में 42वें संशोधन अधिनियम द्वारा 10 मौलिक कर्तव्य जोड़े गये।
· 11वां मौलिक कर्तव्य वर्ष 2002 में 86वें संवैधानिक संशोधन अधिनियम द्वारा जोड़ा गया था।
· संविधान के भाग IV-A के तहत अनुच्छेद 51A मौलिक कर्तव्यों से संबंधित है।

Answer 32: (A)
· William Bradford Shockley Jr. was the manager of a research group at Bell Labs that included John Bardeen and Walter Brattain. 
· The three scientists were jointly awarded the 1956 Nobel Prize in Physics for "their researches on semiconductors and their discovery of the transistor effect".
उत्तर 32: (A)
· विलियम ब्रैडफोर्ड शॉक्ले जूनियर बेल लैब्स में एक शोध समूह के प्रबंधक थे जिसमें जॉन बार्डीन और वाल्टर ब्रैटन शामिल थे।
· तीनों वैज्ञानिकों को "अर्धचालकों पर उनके शोध और ट्रांजिस्टर प्रभाव की खोज" के लिए संयुक्त रूप से 1956 में भौतिकी में नोबेल पुरस्कार से सम्मानित किया गया था।
Answer 33: (A)
· The town of Ooty is located in the Nilgiri Hills of southern India. 
· The elevation of the town gives it a temperate climate, with mild winters and cool summers. 
· Snowfall is not common in Ooty, but it does occasionally snow on the higher peaks in the area.
उत्तर 33: (A)
· ऊटी शहर दक्षिणी भारत की नीलगिरि पहाड़ियों में स्थित है।
· शहर की ऊंचाई इसे समशीतोष्ण जलवायु प्रदान करती है, जिसमें हल्की सर्दियाँ और ठंडी गर्मियाँ होती हैं।
· ऊटी में बर्फबारी आम बात नहीं है, लेकिन क्षेत्र की ऊंची चोटियों पर कभी-कभी बर्फबारी होती है।

Answer 34: (C)
· Blue-green algae, also known as cyanobacteria, are one of a large, heterogeneous group of prokaryotic, primarily photosynthetic organisms.
· Red algae, or Rhodophyta, are one of the oldest groups of eukaryotic algae.
· Chlamydomonas is a genus of green algae that includes about 150 species of unicellular flagellates.
· Sargassum is seaweed (macroalgae) that belongs to the class Phaeophyceae (brown algae). It is commonly known as gulfweed and “sea holly”.
उत्तर 34: (C)
· नीले-हरे शैवाल, जिन्हें सायनोबैक्टीरिया भी कहा जाता है, प्रोकैरियोटिक, मुख्य रूप से प्रकाश संश्लेषक जीवों के एक बड़े, विषम समूह में से एक हैं।
· लाल शैवाल, या रोडोफाइटा, यूकेरियोटिक शैवाल के सबसे पुराने समूहों में से एक है।
· क्लैमाइडोमोनस हरे शैवाल की एक प्रजाति है जिसमें एककोशिकीय फ्लैगेलेट्स की लगभग 150 प्रजातियाँ शामिल हैं।
· सरगासुम एक समुद्री शैवाल (मैक्रोएल्गे) है जो फियोफाइसी (भूरा शैवाल) वर्ग से संबंधित है। इसे आमतौर पर गल्फवीड और “सी होली” के नाम से जाना जाता है।

Answer 35: (C)
· The Education Ministry has named 383 residential schools and 680 hostels funded under the Samagra Shiksha Yojana as 'Netaji Subhash Chandra Bose Residential Schools'.
· Samagra Shiksha Abhiyan is an integrated scheme for school education that provides assistance to states from pre-school to senior secondary level.
· Samagra Shiksha Abhiyan was started by the Central Government on 4 August 2021.
उत्तर 35: (C)
· शिक्षा मंत्रालय समग्र शिक्षा योजना के तहत वित्त पोषित 383 आवासीय विद्यालयों और 680 छात्रावासों का नाम 'नेताजी सुभाष चंद्र बोस आवासीय विद्यालय' रख दिया है।
· समग्र शिक्षा अभियान स्कूली शिक्षा के लिए एक एकीकृत योजना है जो प्री-स्कूल से उच्च माध्यमिक स्कूल स्तर तक राज्यों को सहायता प्रदान करती है। 
· केंद्र सरकार द्वारा समग्र शिक्षा अभियान की शुरुआत 4 अगस्त 2021 को की गयी थी।

Answer 36: (D)
· King Ashoka had sent his son Mahendra and daughter Sanghamitra to Sri Lanka to spread Buddhism. 
· Their names are mentioned in the Buddhist text 'Mahavamsa' written in Sri Lanka.
· Sri Lanka formerly known as Ceylon.
उत्तर 36: (D)
· राजा अशोक ने अपने पुत्र महेंद्र और पुत्री संघमित्रा को बौद्ध धर्म के प्रचार-प्रसार के लिए श्रीलंका भेजा था।
· इनके नामों का उल्लेख श्रीलंका में लिखे गए बौद्ध ग्रंथ 'महावंश' में मिलता है।
· श्रीलंका को पहले सीलोन के नाम से जाना जाता था।

Answer 37: (C)
· When the legislatures of two or more states pass resolutions requesting the Parliament to enact laws on a matter in the State List, then the Parliament can make laws for regulating that matter. A law so enacted applies only to those states which have passed the resolutions. 
· Residuary Subjects are recognised as subjects that are not present in any of the lists stated in the constitution. 
· Article 254(1) of the Constitution states that if there is a repugnancy between the laws made by the State government and the Union government on a concurrent subject, then the law made by the Union government will prevail.
उत्तर 37: (C)
· जब दो या दो से अधिक राज्यों की विधानसभाएं प्रस्ताव पारित कर संसद से राज्य सूची के किसी मामले पर कानून बनाने का अनुरोध करती हैं, तो संसद उस मामले को विनियमित करने के लिए कानून बना सकती है। इस प्रकार बनाया गया कानून केवल उन राज्यों पर लागू होता है जिन्होंने प्रस्ताव पारित किया है।
· अवशिष्ट विषयों को उन विषयों के रूप में मान्यता दी जाती है जो संविधान में बताई गई किसी भी सूची में मौजूद नहीं हैं।
· संविधान के अनुच्छेद 254(1) में कहा गया है कि यदि किसी समवर्ती विषय पर राज्य सरकार और केंद्र सरकार द्वारा बनाए गए कानूनों के बीच विरोधाभास है, तो केंद्र सरकार द्वारा बनाया गया कानून प्रभावी होगा।
Answer 38: (C)
· BFSI stands for Banking, Financial Services, and Insurance. It is an industry term that refers to companies that provide a wide range of banking services, financial products and services, and insurance products.
उत्तर 38: (C)
· BFSI का मतलब बैंकिंग, वित्तीय सेवाएँ और बीमा है। यह एक उद्योग शब्द है जो उन कंपनियों को संदर्भित करता है जो बैंकिंग सेवाओं, वित्तीय उत्पादों और सेवाओं और बीमा उत्पादों की एक विस्तृत श्रृंखला प्रदान करती हैं।

Answer 39: (C)
· As per the final results of 2011 the child sex ratio in India is 914. In Punjab it is 846 and in Haryana it is 834.
· According to 2011 census, India's sex ratio is 943.
· Kerala has the highest sex ratio of 1084 and Haryana has the lowest sex ratio of 879.
उत्तर 39: (C)
· 2011 के अंतिम परिणामों के अनुसार भारत में बाल लिंगानुपात 914 है। पंजाब में यह 846 तथा हरियाणा में यह 834 है।
· 2011 की जनगणना के अनुसार, भारत का लिंगानुपात 943 है। 
· केरल में लिंगानुपात सबसे अधिक 1084 है और हरियाणा में सबसे कम लिंगानुपात 879 है।

Answer 40: (A)
· Bile juice neutralises the acidity of the chyme that comes from the stomach and makes it alkaline.
उत्तर 40: (A)
· पित्त रस , पेट से निकलने वाली काइम की अम्लता को निष्क्रिय कर उसे क्षारीय बना देता है।

Answer 41: (D)
· Param Vir Chakra, Ashoka Chakra and Vir Chakra are awarded during the Republic Day celebrations.
· After independence, the initial three gallantry awards – Param Vir Chakra, Ashok Chakra and Vir Chakra – were instituted by the Government of India on January 26, 1950, which were considered effective from August 15, 1947.
उत्तर 41: (D)
· गणतंत्र दिवस के उत्सव के दौरान परमवीर चक्र, अशोक चक्र और वीर चक्र प्रदान किये जाते हैं।
· स्वतंत्रता के बाद भारत सरकार द्वारा 26 जनवरी, 1950 को प्रारंभिक तीन वीरता पुरस्कार- परमवीर चक्र, अशोक चक्र और वीर चक्र स्थापित किये गए थे, जिन्हें 15 अगस्त, 1947 से प्रभावी माना गया।
Answer 42: (A)
· Arjun Singh Dhurve (born 12 August 1953) is a folk dancer and a retired teacher from the Dindori district of the Indian State of Madhya Pradesh. 
· He is famous for popularising Baiga folk songs and dance.
· Baiga Pardhauni dance is the main dance of the Baiga tribe.
उत्तर 42: (A)
· अर्जुन सिंह धुर्वे (जन्म 12 अगस्त 1953) भारतीय राज्य मध्य प्रदेश के डिंडोरी जिले के एक लोक नर्तक और एक सेवानिवृत्त शिक्षक हैं।
· वह बैगा लोक गीत और नृत्य को लोकप्रिय बनाने के लिए प्रसिद्ध हैं।
· बैगा परधौनी नृत्य बैगा जनजाति का प्रमुख नृत्य है।

Answer 43: (C)
· Borgeet, a musical composition, is used in Sattriya.
· Borgeet is a literary and creative collaboration of Srimanta Sankardev.
· Satriya dance is one of the eight main Indian classical dance traditions.
· This dance is a classical dance of Assam.
· In the year 2000, this dance got the honor of being included among the eight classical dances of India.
उत्तर 43: (C)
· बोरगीत, एक संगीत रचना, का उपयोग सत्रीया में किया जाता है।
· बोरगीत श्रीमंत शंकरदेव का एक साहित्यिक और रचनात्मक सहयोग है। 
· सत्रीया नृत्य, आठ मुख्य भारतीय शास्त्रीय नृत्य परंपराओं में से एक है।
· यह नृत्य असम का शास्त्रीय नृत्य है।
· वर्ष 2000 में इस नृत्य को भारत के आठ शास्त्रीय नृत्यों में सम्मिलित होने का गौरव प्राप्त हुआ।

Answer 44: (B)
· Prime Minister Shri Narendra Modi participated and offered prayers at the celebrations of the 553rd Prakash Parv of Shri Guru Nanak Dev Ji in New Delhi.
· The Prime Minister was honored with a shawl, siropa and sword.
· Guru Nanak Dev Ji was the first Guru of the Sikhs. His birthday is celebrated as Guru Nanak Jayanti.
उत्तर 44: (B)
· प्रधानमंत्री श्री नरेन्द्र मोदी ने  नई दिल्ली में श्री गुरु नानक देव जी के 553वें प्रकाश पर्व के समारोह में भाग लिया और प्रार्थना की। 
· प्रधानमंत्री को शॉल, सिरोपा और तलवार से सम्मानित किया गया।
· गुरुनानक देव जी सिखों के प्रथम गुरु थें। इनके जन्म ‌दिवस को गुरुनानक जयंती के रूप में मनाया जाता है।
Answer 45: (D)
· Alauddin Khilji's slave general Malik Kafur led several expeditions south of the Vindhyas to Devagiri (1308), Warangal (1310) and Dwarasamudra (1311).
· Ramchandra Dev was the ruler of Devagiri at the time of Alauddin Khilji's invasion.
· In 1294, Alauddin Khilji of the Delhi Sultanate captured Devagiri.
उत्तर 45: (D)
· अलाउद्दीन खिलजी के गुलाम जनरल मलिक काफूर ने विंध्य के दक्षिण में देवगिरि (1308), वारंगल (1310) और द्वारसमुद्र (1311) कई अभियानों का नेतृत्व किया।
· अलाउद्दीन खिलजी के आक्रमण के समय रामचन्द्र देव देवगिरि के शासक थे।
· 1294 में, दिल्ली सल्तनत के अलाउद्दीन खिलजी ने देवगिरी पर कब्जा कर लिया।

Answer 46: (C)
· Haryana Government has announced ‘Matrishakti Udyamita Yojana’ to provide assistance to women entrepreneurs on International Women's Day.
· Under the Matrishakti Entrepreneurship Scheme, loans up to Rs 3 lakh are given to women. The state government is running various types of welfare schemes to make women empowered, self-reliant and self-reliant.
उत्तर 46: (C)
· हरियाणा सरकार ने अंतर्राष्ट्रीय महिला दिवस पर महिला उद्यमियों को सहायता प्रदान करने के लिए ‘मातृशक्ति उदयमिता योजना’ की घोषणा की है।
· मातृशक्ति उद्यमिता योजना के तहत महिलाओं को 3 लाख तक का ऋण  दिया जाता है, प्रदेश सरकार महिलाओं को सशक्त, स्वावलंबी एवं आत्मनिर्भर बनाने के लिए विभिन्न प्रकार की कल्याणकारी योजनाओं का संचालन कर रही है।

Answer 47: (C)
· Intensive agriculture uses a lot of machinery, labour, chemicals, etc. to grow as many crops as possible or keep as many animals as possible on the available land.
· Crop yields are increased by the use of chemical fertilizers and pesticides in intensive agriculture.
उत्तर 47: (C)
· गहन कृषि में अधिक से अधिक फसलें उगाने या उपलब्ध भूमि पर अधिक से अधिक जानवर रखने के लिए बहुत सारी मशीनरी, श्रम, रसायनों आदि का उपयोग किया जाता है।
· गहन कृषि में रासायनिक उर्वरकों एवं कीटनाशकों के प्रयोग से फसल की पैदावार बढ़ती है।
Answer 48: (B)
· India and Bangladesh will co-host the ICC Men's Cricket World Cup in October/November 2031. Earlier, Bangladesh had hosted the year 2011 World Cup along with India and Sri Lanka.
उत्तर 48: (B)
· भारत और बांग्लादेश अक्टूबर/नवंबर 2031 में ICC पुरुष क्रिकेट विश्व कप की सह-मेजबानी करेंगे। इससे पहले, बांग्लादेश ने भारत और श्रीलंका के साथ वर्ष 2011 विश्व कप की मेजबानी की थी।

Answer 49: (A)
· Revenue deficit arises when the revenue expenditure of the government exceeds the total revenue receipts.
· Deficit includes those transactions which have a direct impact on the current income and expenditure of the government.
· Whereas the sum of revenue deficit of a financial year and payment of interest and other liabilities on the loan taken by the government is called fiscal deficit.

उत्तर 49: (A)
· राजस्व घाटा तब उत्पन्न होता है जब सरकार का राजस्व व्यय कुल राजस्व प्राप्तियों से अधिक होता है। 
· घाटे में वे लेनदेन शामिल हैं जिनका सरकार की वर्तमान आय और व्यय पर सीधा प्रभाव पड़ता है।
· जबकि किसी वित्तीय वर्ष के राजस्व घाटे और सरकार द्वारा लिये गए ऋण पर ब्याज तथा अन्य देयताओं के भुगतान का योग राजकोषीय घाटा कहलाता है।

Answer 50: (D)
· The atomic size increases down the group. 
· This is because new shells are being added as we go down the group. This increases the distance between the outermost electrons and the nucleus so that the atomic size increases inspite the increase in nuclear charge.
उत्तर 50: (D)
· समूह में नीचे की ओर परमाणु का आकार बढ़ता है।
· ऐसा इसलिए है क्योंकि जैसे-जैसे हम समूह में नीचे जाते हैं, नए सेल जुड़ते जाते हैं। इससे बाहरी इलेक्ट्रॉनों और नाभिक के बीच की दूरी बढ़ जाती है जिससे परमाणु आवेश में वृद्धि के बावजूद परमाणु आकार बढ़ जाता है।

Part C: Quantitative Aptitude/भाग ग : संख्यात्मक अभियोग्यता

Answer 51: (B)



Answer 52: (D)

Total distance 

	            
उत्‍तर 52: (D) 

कुल दूरी 

	   

Answer 53: (C)
Scholarship = 26%
Donation = 35%
Required % 


उत्‍तर 53: (C)
छात्रवृत्ति = 26%
दान = 35%
अभीष्‍ट प्रतिशत  



Answer 54: (A)

Average of Angela 

Average of Maria 

Average of Sareena 

Average of Preeti 

Average of Deepika 
Highest score = Preeti
उत्‍तर 54: (A)

एंजेला का औसत

मारिया का औसत 

सरीना का औसत 

प्रीति का औसत 

दीपिका का औसत 
उच्‍चतम स्‍कोर = प्रीति 

Answer 55: (A)
Let the average of all 20 was Rs. K.
ATQ,
19  175 + (K + 19) =20K
3325 + K + 19 = 20K
19K = 3344
 K = 176
20K = 20  176 = Rs. 3520
उत्‍तर 55: (A) 
माना सभी का औसत K है। 
प्रश्‍नानुसार,
19  175 + (K + 19) =20K
3325 + K + 19 = 20K
19K = 3344
 K = 176
20K = 20  176 = Rs. 3520

Answer 56: (C)



Answer 57: (B)
A	7 5		35	4
					140
B	7 4		28	5
Work done in 7 days = 7 9 = 63

Required % 
उत्‍तर 57: (B) 
A	7 5		35	4
					140
B	7 4		28	5
7 दिनों में किया गया कार्य = 7 9 = 63

अभीष्‍ट प्रतिशत 

Answer 58: (D)

Area cm2
उत्‍तर 8: (D)

क्षेत्रफल सेमी2

Answer 59: (D)
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Quotient = 22
उत्‍तर 59: (D)
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Answer 60: (B)


उत्‍तर 60: (B)



Answer 61: (A)

Area 



Arc  cm
उत्‍तर 61: (A)

क्षेत्रफल



चाप सेमी 

Answer 62: (D)
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उत्‍तर 62: (D)
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Answer 63: (B)



Total work 

	      
Required time 


उत्‍तर 63: (B) 



कुल कार्य 

	  
अभीष्‍ट समय  



Answer 64: (D)



Profit % 
उत्‍तर 64: (C) 



लाभ % 

Answer 65: (A)
HCF of 33 & 54 = 3
उत्‍तर 65: (A)
33 तथा 54 का म.स. = 3

Answer 66: (A)



Diameter 
उत्‍तर 66: (A)



व्‍यास 
Answer 67: (D)
Diameter is the longest chord of a circle.
Hence statement (D) is wrong.
उत्‍तर 67: (D) 
व्‍यास, वृत्‍त की सबसे बड़ी जीवा होती है। 
अत: कथन (D) गलत है। 

Answer 68: (C) 


BC = 42
BD = BC – CD = 42 – 10 = 32





Answer 69 : (B)

 

Answer 70: (B)


Answer 71: (D)
A	18	2
			36
B	12	3
Work done by B in 4 days = 3  4 = 12 units
Remaining work = 36 – 12 = 24 units

Time taken by A days	         
उत्‍तर 71: (D)
A	18	2
			36
B	12	3
B द्वारा 4 दिनों में किया गया कार्य = 3  4 = 12 इकाई 
शेष कार्य = 36 – 12 = 24 इकाई 

A द्वारा लिया गया समय दिन 	         

Answer 72: (A)

Speed of A m/sec

Speed of B  m/sec
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No. of round 

Time taken by A to complete the race sec 

Time taken by B to complete the race sec 
First time, they will meet after = LCM of 200 & 250 = 1000 sec
Last time = 4000 sec
उत्‍तर 72: (A)

A की चालमी/से 

B की चाल  मी/से
[image: C:\Users\sudhir\Desktop\6+.jpg]

चक्‍करों की संख्‍या

A द्वारा रेस पूरा करने में लिया गया समयसेकण्‍ड  

B द्वारा रेस पूरा करने में लिया गया समय  सेकण्‍ड
पहली बार मिलेंगे = 200 & 250 का ल.स. = 1000 सेकण्‍ड
आखिरी बार= 4000 सेकण्‍ड

Answer 73: (D)

P = SP – CP	(I)

4P = 2SP – CP 	(II)
On solving eq. (I) & (II)



Profit % 

उत्‍तर 73: (D) 

P = SP – CP	(I)

4P = 2SP – CP 	(II)
समीकरण (I) और (II) का हल करने पर- 



लाभ % 

Answer 74: (C)


Answer 75: (A)




Part D: English Language and Comprehension

Answer 76: (D)
The given sentence is in Present Continuous Tense in Active Voice.
Rules of conversion :
Active Voice : Subject + is/am/are + Verb(-ing) + Object
Passive Voice : Object + is/am/are + being + Verb(III) + by + Subject
I am being laughed at by her. – Correct sentence

Answer 77: (A)
Aware of is the suitable word.

Answer 78: (D)
The antonym of Uncomfortable is Easeful.
Other words :
Troublesome : causing trouble, pain, etc. over a long period of time
Difficult : not easy to do or understand
Awkward : difficult to deal with
Answer 79: (B)
Sentence D is the grammatically correct sentence with the correct usage of articles.

Answer 80: (A)
The antonym of Sophisticated (having or showing a lot of experience of the world and social situations; knowing about fashion, culture, etc.) is Primitive(very simple and not developed).
Other words :
Modern : of the present or recent times
Techniques : a particular way of doing something
Technology : the scientific knowledge and/or equipment that is needed for a particular industry, etc.

Answer 81: (A)
Harangue is a lengthy and aggressive speech.
Answer 82: (A)
The antonym of Effervescent (enthusiastic and full of energy) is Subdued(quieter and with less energy than usual).
Other words:
Carefree: with no problems
Bubbly: happy and full of energy
Comparison: an act of comparing

Answer 83: (C)
The synonym of Interlinked (join or connect (two or more things) together) is Interlaced (to join things together by twisting them and crossing them over each other; to be twisted together in this way).
Other words:
Free: not in prison, in a cage, etc.; not held or controlled
Continuous: happening or existing without stopping
Severe: causing somebody to suffer, be upset or have difficulties

Answer 84: (C)
The idiom ‘To prime the pump’ means to encourage the growth or action of something.

Answer 85: (C)
Flows is the right usage.

Answer 86: (B)
Saga is the correct answer.
Other words :
Journal : a newspaper or a magazine, especially one in which all the articles are about a particular subject or profession
Case study : a detailed study of a person, group, situation, etc. over a period of time
Witness : a person who sees something happen and who can tell other people about it later

Answer 87: (C)
Disposed of(throw out or destroy) is the correct usage.

Answer 88: (C)
Option C is the correct answer as Past Tense uses the second form of Verb and ‘were’.

Answer 89: (D)
The antonym of Filthy(very dirty) is clean.
Other words :
Dignified : behaving in a calm, serious way that makes other people respect you
Integral : necessary in order to make something complete
Barren : (used about land or soil) not good enough for plants to grow on
Answer 90: (A)
The given sentence is in Simple Past Tense in Active Voice.
Rules of conversion:
Active Voice : Subject + Verb(II) + Object
Passive Voice : Object + was/were + Verb(III) + by + Subject
Her performance was loved by the audience. – Correct sentence

Answer 91: (D)
Mysterious is the correct spelling that means strange.

Answer 92: (C)
The idiom ‘Back against the wall’ means to be in a difficult situation from where escape is difficult.

Answer 93: (C)
The synonym of Vigilant (careful and looking out for danger) is Cautious.
Other words:
Proof: information, documents, etc. which show that something is true
Security: protection against the difficulties of life
Burglar: a person who enters a building illegally in order to steal

Answer 94: (B)
Profane is the correct spelling that means showing a lack of respect for sacred or holy things.

Answer 95: (B)
Lexicographer is the correct word.
Other words :
Plagiarist : showing a lack of respect for sacred or holy things
Bibliophile : a person who collects or has a great love of books
Iconoclast : a person who does not believe in and is opposed to accepted ideas, traditions, etc.

Answer 96: (C)
Somewhere is the appropriate word.

Answer 97: (A)
Training is the appropriate word.

Answer 98: (B)
Wondered is the appropriate word.

Answer 99: (B)
Expedition (a long journey for a special purpose) is the appropriate word.

Answer 100: (D)
Based is the appropriate word.
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